Intermediate 1

Past tense
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Today’s agenda

1. of the binyanim

2. binyan Nif’al

3. how to conjugate binyan Nif’al verbs
in past tense step by step

4. with the teacher

5. the importance of binyan Nif’al -
passive!

6. with the teacher

/.Homework

8. What’s next?



Review




Review




How can we 2versin
?

|,‘|7



How can we averb in
?

starts with LE-HI

Sounds like LE-HI-A-E

[l/[r?gb Q/ i‘th



How can we averb in
?

ln'?
ln'?

ln'?

UYlpalifegrabiah



Conjugate Nif’al

in past tense

In order to conjugate a verb in past
tense, follow 4 steps:




The steps of past tense

(Root letters) wniv 1

Yol



The steps of past tense

Root letters - WY NIMNIN
The 3 letters that are always changing in
the template.

In Nif’al it’s everything but the ‘'n7’

XOXOXMN7

Yol



The steps of past tense

Dare to take a guess?

Try to find the root letters
of the verb

DID'N7
Ulpavilifeqralia



The steps of past tense

In 7V91)
it’s everything but the *n7’

DIOM7 -01D'N7

D.1.D
Yol



The steps of past tense

Yol



The steps of past tense

112N OY = N'1an

000

Uhe [Wr%)zq/mh



The steps of past tense

.I"JJ_‘ NnY = NN

a0
\e{‘e( ) /




The steps of past tense




The steps of past tense

Put the root letters in the structure



The steps of past tense

N'12N1 vNIY 3

Put the root letters of the verb
D1D'N7 in the structure

Ty




The steps of past tense

Put the root letters of the verb
in the structure

¢
”&\“ a n B
D
*\‘}9



The steps of past tense

Add the ending according to the
pronoun

Yhieghalioh



The steps of past tense

Pay attention!

In 7VU91:

The vowel of the 2nd root letter

changes to .
o0
for N’ and for Jn/Dn.

Ulpavilufeghaliah



The steps of past tense

ninro

PLURAL - D"2N SINGULAR - T'n?

I TR

I T
I TR




The steps of past tense

ninro

PLURAL - D"2N SINGULAR - T'n?

e [ ome




The steps of past tense

Let’s try it with the verb n7




The steps of past tense

Let’s try it with the verb n7

e

¥




The steps of past tense

Let’s try it with the verb 01507

PLURAL - D"1" SINGULAR - T'n?

Yhudegralioh




The steps of past tense

Let’s try it with the verb 01507

PLURAL - D"1" SINGULAR - T'n?

120103 MD1)
DNOI2] N0

N012] noiol
101D1 01l
10121 101D

Yhudegralioh




Practice with the teacher

Conjugate the verb "nw'n7 following
the steps




Practice with the teacher

Conjugate the verb "nw'n7 following
the steps

1.N.Y é—-—a

—O

Yol



Practice with the teacher

Conjugate the verb "nw'n7 following
the steps

e — @
000 - &mo
- — e
—O

Yol



Practice with the teacher

Conjugate the verb "nw'n7 following
the steps

—Emo
000  &me
000 3o

- — o

UYhaletgaliah




Practice with the teacher

Conjugate the verb "nw'n7 following
the steps

—Emo
000  &me
000 3o

- — o

UYhaletgaliah




Practice with the teacher

PLURAL - D"1" SINGULAR - T'n?

I R
I R
I R
I R

Yhudegralioh




Practice with the teacher

PLURAL - D"1" SINGULAR - T'n?

11NY) MINY)

Yhudegralioh




Practice with the teacher

12V D12 7Vin2 D'NIN D'UIWAI NN DITWAYT .2

-------------------------------------------------------------------------

Complete the sentences with the correct conjugation of the verb.

==
;,ﬂf N /4
LY /
"ii‘f?{a :

N'T1 72N ,D1IP3 7W20'A7 NNXI N7 N A

N7 0101 71N ,J1Vil '7W 01N Oy wanq7 'n'y .2

JINT 701 D1 73N ,]1J171 DN7'A7 I N7 O'7'"'Nil .3

N71 TN 'MTN NI0d 73N ,07W DA INWA7 "7 auNa nn .4

JINT 701 DT 73N 703277 N7 DOINAND W' DNl .5

_ 0N QI0D3 73N ,TDYI7 712" N7W 110 AT 0OAW 11awn 3710 (.6

A'IN 7N NU'DNAIING DOIP7T v g

a1 NN Ol 7N ,D'WTIN W'AN JWN'a7 0D ' ony'wn .8

[l/[réﬁjl‘t/i‘th



Practice with the teacher

71D N7W 210 21T DNY 122YN 117D
0N 9101 72N ,T19'N7

(To'n7)




Practice with the teacher

71D N7¥ 210 21T DNY 122YN 117D

DN 9101 72N ,T19'N7

\/ \ UAIY NIPNIN =

(To'n7)

‘Dn‘ 7w nniro = (U) |




Practice with the teacher

HN3a wiwa 7Vi9 ninw x'7 .3

Create the infinitive with the provided root letters and complete
the sentences accordingly.

( - D"WA) ".0"NAI NINIPRN ?771'07 N7 TIV NRT7 NN A
E - 1"3) .O"n1 1107 '7W Do 70 .2
( - Ww"n) 1w 15 197 Nava aNl 7Y (.3
( - N"ND) AJI0PIN WTIN O'TIN7a niw - L4
E - 0"N7) . N' PI¥ YN¥IN3 7w pDnan 5
IN 11D NLITY YT L PO NT YTWIDT70OW MNIWD L6
( -1" / - 7"1)
( - 7"wn) ?N1annn (AT nd .7
( - 7"Ww2) "?7Nj3'unnnl |nani nn7 o7t .8
{ - 1"NW) "?MP0901 NN an7 |19

- 3"0D) .70 NTIaY7 NTN 0Tl anawn W10

| (
f | [”reg)quiq/h{ _ = TM19) .MNN DT NN _ B 1 L [T LS I |




Practice with the teacher

NlY 1511197 NaN2 1INI "7V

(waorn'7)




Practice with the teacher

NlY 151197 NaN2 1ANI "7V

N\

NIV NI'NIN =
(wao'n'7)

‘NNIN 7w nni'o = (NU) 1




The importance of binyan

Nif’al - passive

Binyan Nif’al has and
verbs.



The importance of binyan

Nif’al - passive

Binyan Nif’al has and
verbs.

What is a verb?



The importance of binyan

Nif’al - passive

If someone closed the window,
what happened to the window?
The window was closed.



the importance of binyan

Nif’al - passive

Each verb in has an
version in

Il/{r?gjl‘t/i‘th



The importance of binyan
Nif’al - passive

7V9) D'N7Y 7VS
(passive) (active)

N20'N7 NI20'7
NnNo®'n‘7 NniNo®'7
Navn'7 127




The importance of binyan

Nif’al - passive

The conjugation follows the same pattern
as all other verbs in the Nif’al binyan!

7101 NA0'N7

NN®'N7

2] aklU Y,



the importance of binyan

Nif’al - passive
Check out some examples!

r 1101 1210
Py gy
means “by”




the importance of binyan

Nif’al - passive
Check out some examples!

1101 1210

INND
nNNO)

Yo [lfi@)lﬂli“h




the importance of binyan

Nif’al - passive
Check out some examples!

1101 1210

INND
nNNO]
111
1)

[pavilifeghaliah




HNITO WIIWa NIV 7°10 UOWM 7'VD UIWN 1ind7 .1

......................................

Write an active sentence and a passive sentence with the given root. &

............................................

Practice with the teacher

7un 4= naon 4+ unn

noa 4+ 17 4+ 11

MO NN 21 [T

JT YT TV 2131 qooan

munn 4+ 7 4+ 1'on

11 4+ wiw 4+ o'on

a7in 4+ won 4+ 7712

7w 4+ TR 4+ 7'Nw

W1 + pnw 4+ pmar

n71 4+ nn + n'no




Practice with the teacher




Practice with the teacher

Active sentence:
N1INNN NN L

UYlpalifegrabiah



Practice with the teacher

Active sentence:
N1INNN NN L

Passive sentence:
L waY) n1innin



Practice with the teacher

HNIT WYiWa NTYA 7YDI3 iN 7VD3 DNDNa D'7Y9i1 NN 3in)7 .2

----------------------------------------------------------------------------------------------------

(N"7w) .11 12:00 Tywl _N7W1_ 7' 7INNN 7'0 _*nN7W_ 1IN .1

(1"N2) .20 733 17W [IWNIN YDO0N NN NITT .2

(2"n2) "o 7Nw intua aandn 3

(pn) .nivw 4 Juwna NI . 1330 NN DAW NAN DNUIWN 4
(D"0nN) .O'™N'ANT 07NN NI 73NN .72N00 NN o7vNa L5
112 NITT ' ININ 120 N0V 7INNN DN T 7Y mw (.6

(7"72) .7NAYW MW NN

"N NN CTIwNnw N2'o niwTna .7

(Y"PT) .0'7IN N'A3 "WV NNXND NI 703 7'NNW NNN O
J7W AIWTNA T 73w ating 7y 7INNN .8

(D"NN) 7W T8 7Y T 7Y D) TN
.01'n NiN7in 500 12Inn .9

/| [”regquliq/h CERIEEEREETNE T o



Practice with the teacher

ZINNN NOSINN'T' 7V ny
ainlVal
72D NIN D ININ N1'DN NN
(7.7.2) .N12VY NI NNIN




Practice with the teacher

7INNN NOSINN'"T' 7V Ny
nip)Val
72D NIN D ININ N1'DN NN
N1AVY Niva NNIN




Practice with the teacher

7INNN NONN "7 7V ny
nip)Val
72D NIN D N N N'N
NVY NIYA NNIN

UAIY NIPNIN =

'N'NC 7w Nni'o = (A) n (712'07)
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Homework - n'a Nnivw

7V9)

Complete the table.

n7290 NN DY7WAY A

ow

ypion | 11707 [ 1NN onN | DNIN | NW | NID NN | anN | uN
o127 10133 |ND32] | ONO12) | 110121 | NDI2 0133 noidl | no1J3 | 'ND13
Innwal
M7WI]
HMIT WIiwa 7UiD ninw ux'7 .3 NWing
71V |12 0'7Y91 D'UDWAN NN D'7TWIH {
e T L ' 123
Create the infinitive with the provided root letters and complete I
the sentences accordingly.
T

{ - 0"WA) ".0"MN NINPNN 77107 N7 TIV On7 T
{ -1"n1) .o'"alr 1107 Twnoon 7y 2
{ - WD) .n1w 15 197 Nava aNE'Y7Vv1 3
( - N"N2) Q0PN WTINd o' nw L4
{ - 0"N7) N'N DI¥ Yy¥aIN3 e U I o L g B

iTN11D MW "Ml P'N NT W I0700W MNIWI - .6

( -1/ - 7"73)
( - 7"Wn) NN _ |ntany 7
( - 7"wW2) "?2NR'wnNNAa INana nany o7 .8
7 _ - 7"NW) *?70j0903 Anoa _an7 Tt 9
( - 3"09) 7972 NTIAVT TN 073 onawn .10
( = T"19) 2NN NIIT NN LR TFIRG . § |

' ;{Wfégk@/mh




Homework - n'a Nnivw

Passive 7V9)

(N"7w) .17v1 19:00 NYW _N7WI1_ 707 710NN 70 AN o8 4
(1"n2) .20 713 17W [1WNIT 1000 DN NI .2
(2'N2) "orn Twow intwl nanin .3

(V"pn) .nivw 4 Jwna NI L1120 NN

(D"on) .oNaNa 097NN NIDT3a 7NN 73NN NN

72D NI D NN 7720 X9 .00V 7INDN 80N T 7Y

(i3°73) .MNaYW MW NN

JN0 NN

(V"3T) .D'7IN D23 1'WIY NN NI 703

JTW AWTNA 7T 73w annan 7y

(0"nn) 7w MR 7Y T Y O

.0 ni¥7in 500

(1"2n) .NIFNISIN |2 TIND 0N

onw NN DNoIwa 4

Twnaw No'o niwTna 7

TUNAW NN O

Write an active sentence and a passive sentence with the given root. =

N 4+ naon 4+ utn noa 4+ |7 4+ 1'n

L0260 NN 3T

AT T TV 211 nooa

annn 4+ |7 4 1"n 111 4+ wiw 4+ o'on

a7n 4+ won 4+ pr1a 78w <+ TR7h + TR

o'7'"na .5

nmw .6

13 + |pnw 4 T n71 + nn + n'nn

TnnN .8

atTinm

omn 9
In

:’flfifégh@/mh



What’s next?

e Do your homework.

e Take our final Quizz.

e Move on to the next
lesson!

Ulpavilifeqralia




